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Intro

Today we will 7”va learn 5 97 of 370 NOON
Some of the topics we will learn about include.

PR DY

If two witnesses testify against someone in Bais Din and
then two other witnesses come and testify

mbo DA DN MY

Y ou could not have witnessed the above because you
were with us in a different location at that time when you
claim that the alleged act occurred;

The first witnesses become yin 07, and disqualified;
And they are penalized with the same penalty that they
wanted to impose upon their victim.

The Xam 7ax np>nn regarding

oni 7Y

From what point does he become mTy> %109, disqualified
to testify?

»2ax holds

5001 R YI9ONS

He becomes 1090 retroactively from the time he testified
falsely.

x17 holds

5091 R R JRID

He becomes 509 only from the time it was discovered
that he was an omn 7, but not from before.

The X271 7ax np1>nn regarding

©YI1? M2 YR IM

One who deliberately eats 7523 meat to rebel against the
Torah, but not to save money, »ax holds he becomes 509
m7pb, while X117 holds he does not become mTv5 5o0.

The Machlokes oy *a71 R» 17 regarding

mNHP TI000

If an o»1 7Y had testified falsely in mnn 17 which are
>p, lenient, does he become mTY> 9109 only in mun 17
or even in mwo °»7 which are Mo, stringent?

DafHachaim.org
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From what point
does he become
disqualified to testify?
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So let'sreview ...

The previous Mishnah discussed

5097 17 BRI

Those who transgress certain M2y become disqualified
to become 0’17, judges, or 07V, witnesses.

The Gemara proceeds with a Machlokes regarding

opR TV

If a person testified and was later discovered to be an 7y
onn, he had testified falsely;

From what point does he become m7v5 %109, disqualified
to testify?

INR IR

5001 RN YIONH

7R says he becomes %100 retroactively from the time he
testified falsely, because

N7 YOI TAORT RITVD

He was then already considered a ywi who is m7v5 %109,
as the Pasuk states

P TY NPAD YW1 OY 7T Nwn HR

Which means

TV YWY NWN OR

A wicked person cannot testify.

IR K1Y

5003 K177 X2 IROD

X317 says he becomes 91090 only from the time it was
discovered that he was an 0m11 7, but not from before,
because

NigwITR ot T

It is anovel Halachah that the second 13 07p can
disqualify the first P o7v through the testimony of
on»nnY, because this is a situation of *9m N, in which
the second P17 o7 are wnoy, contradict, the first o7v
as to their whereabouts at the time of their testimony; and
if so

IR PO AR NONOT TN NRD

Why do we accept the second mTY as truth, and the first
mTY as false? Perhaps, the first m7y is the truth, and the
second M7y is false?

It must be a 3057 N1 that we accept the testimony of the
second m7y. Therefore,

T2RIWITT NYWH ROR 1275 PR

The first o7 are considered oywA only from the time of
the 1, but not from before.

The Gemara offers a second explanation of X217 that
perhaps he does agree with »ax that

5001 RN YIONH

But even so, they only become 509 from the time of 7,
mMphT RTOO DD

Because this will cause a loss to all buyers to whose
purchases the o™i 7v testified between the time of the mTy
and the .

DafHachaim.org

The Mishnah discassed. ..
108 1 Ao

Those who transgress certain m»p
become disqualified to become DT or DT

ot Ty

If a person testified and was later discovered
to be an pmit T, he had testified falsely

From what point does he become yzy/ foo?

W £P)
R2NM |RON
P0D1 RN

From the time
it was discovered
that he was an pmir T
Because
NN WYTN DT T
TN IND
2R NODDT ay the Pasuk stafes
It must bew p1p3» pr5c o = e P
thatt we accept the faﬁmm?/ Which means
o% the second py3y. 5y ¥O N J
Therefore, w wicked person
NDN 1295 PN cannat testify
TN Howp
PN

WE P
YI9NY
5001 NN

Retroactively
from the time
he testified falsely

Because
TNDNT NOTDD
N} b))

The Gemara %&m
wsecond W&an/ @/ AP
Perhaps he does agree with man that
5po2) NN VIOVD

But even so, they only become 5po
from the time of nnth

D)D)PbT NTDOS DIPD
Because this will cause w losy to aﬂéuy@ry
fo w/ww/mrc/ma/ the M5 TV ?‘WW
between the time o% the przy and the Wi»
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The difference between the two versions of X1 is in the
following two scenarios where ®

x> VITH DN

RYR MMPHT RTOD DN

Only one reason applies ®

1.

1290 772ITIORT

Two 07 were 't one 7 and two other 7Y were Oi»
the other 7y;

The acceptance of the second M7y is not a v1T'n, because
they are two against one, but there is concern for X709
mmpbT.

OR

2.

RO IH00T

The second 07 were not 0’1, but testified that the first
D7V were thieves;

The acceptance of the second M7y is not w1T'n, because, as

Rashi explains

YTAODR PIANR RN RTT

This is not a situation of *3m 70 since they did not testify
against the testimony of the first o7y, but rather against
the eligibility of the ©7v themselves, for which the first
7Y are not believed, but there is concern for X700
mmpsT.

The Gemara concludes

D"p 5"Y72 7aRT PO RNOYM

This is one of the six cases where we rule like »ax rather
than X19. These are exceptions to the general rule

N172 71957 K27 7R

DafHachaim.org

The /%ermc& between the two versionds o% £
W& in the /(/%wm;/ two scenarios where
AO'A'JJ//)//DA £3:00 pIy &/ Uz 21N

1
7N2 "IN 772 1TNOKRT

Two DTV were DY one T
and two other DTv were D1y the other T

But thereis
concern for
NINRTTRTOD

The acceptance
of the second nry
1snot awrmn

Because
7‘44?/”/ fwo W one
2
NMIDTI2 IN1°HODT

The second D*Tv were not Dy,
but testified that the first o7y were thieves

But thereis
concern for
NINIPYTTRT09

The acceptance
of the second nrmy
1S not wrrn

PO HHSM HOT
700ND

The: Gemara concludes
D”2p b7pn MINT MnNd RNOHM

These are exceptions To the Wml rule
AP 25 ARV Pt
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The Gemara proceeds with another one of these six cases:
m>2350R IM

Someone who eats forbidden 1521 meat intentionally;

Is he m7v5 Mo97 It depends;

paRens

509 5571927

If he eats 1521 because it’s cheaper, all agree that he
becomes disqualified to testify, because as Rashi explains
TV PO OWHT IT

090 D1 ROV RITT

oPAT YW P N

Since he buys the cheaper 7511 meat to save himself
money, he is considered like a 1513 who is M7 H109,
because he’s willing to commit a transgression for
monetary gain.

The Machlokes is regarding

m>2 59X M

oYY

2109 IR MR

W IR RIT

Ifhe eats 7523 meat intentionally even where it's the same
price, to rebel against the Torah;;

71K holds he becomes 509;

X127 holds he does not become 5105;

As the Gemara explains

5109 IR 7R

YOI T

He becomes %109, because he is considered a yw- through
his 772, and a ywA for any 772p becomes %109, as the
Pasuk states

OPM Y NPAY YWI OV 7 Nwn OR

Which we understand as

TV YW NWN OR

A wicked person cannot testify.

While

W IR RIT

V2 ONNT YW

He remains 7w>, because this 77°2p was not for the sake of
money, and only a yw1 for an 772 that was for money,
such as a thief, because we assume that he will testify
falsely for money; as the Pasuk states

OPA Y NPAY YWI OY 7 Nwn OR

Which we understand as

7Y 0PN MW HR

One who steals may not testify.

The Gemara brings proof to X127 from the following
Braisa:

TV YW NWN SR

TV OB W SR

Y27 75m PIS DR

A thief, or someone who lends money for interest, is 5109
mTYS.

Apparently, only for these M2y that were transgressed
for the sake of money, one becomes 5109, but for m~ay
that were not for money, one does not become 5109.
RDIAPN 7IRT RN2AYN
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The Gemars proceeds...

mM9r21 DOIR IO

Someone who eats n>2) intentionally

Iy /WJJ/?)// /aa 7

™M) DN I
D'DOND
If he eats n»22 intentionally
to rebel against the Torah

paNnd
20N 27
710D

If he eatsnb22
because it’s cheaper,
all agree he becomes

disqualified
70300 1WN OIENT 1107
DY N3 KL HID7
DHN7 VE DD OV

W £2) W

plU] 90D

DONT LYY M NnNT
D2 INUR)
5y o rlp Je Y YO J

ol mivm N
D= b
onr =9 mreD

The Gemara brings progp to £
from the %ﬂ%% Bﬁfuw

T3 P nwn O
T3 DI NN ON
P19 o 1o oN

A thief, or someone who lends money for interest,
is mTY) 5D

Only nnay
for money, not for money,
one becomes one does NOT
4109 become 4100

RDN21PN MIART RN2A1N

But nnny
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The Gemara now attempts to say that the X291 »aR np1>mn
is actually a o'Xin np15mw in the following Braisa:

912 7NN 5% o0 oo TY

PRP 27727

PR1 127 says that one who testifies falsely even regarding
mnod T, monetary matters which are 5p, lenient,
becomes disqualified to testify in all matters, in mnmnn 17
and even mwo1 17, life and death matters, which are wnmn,
stringent, because

MWINS TOMA SR TwMN

One who transgresses even a lenient 772 is assumed to
be willing to transgress even a more stringent 77°2y.

0P 117 disagrees and says it depends

MWo1° 1T 0NN R”72

79 7NN 95 Moo

Only if he had testified falsely regarding mw»o3°r7 which
is 11, he becomes disqualified for both mian 7 and 17
mwos, because

5P5 Twmn Tend Temn

One who transgresses a stringent 772y is assumed to be
willing to transgress an equivalent 772y, and certainly a
more lenient 772y. However

mnm» P72 000 IR

mwo1°rTr W3

Ifhe had testified falsely only in mnn 27 which is >p, he
becomes 9109 only for minmn *y7 but remains W for 37
mwo1 which are 1m, because

WM TVMIPR SPS TUMmN

One who transgresses a lenient 772 is not assumed to be
willing to transgress a more stringent 77°2y.

The Gemara initially assumes as follows:

72X holds like x» *27 because 7ax says

V1Y M1 YR

mb oo

He becomes disqualified even though to eat 1521 is »p,
because it is only

[aRsluPRV]

nPId YIIPNY

This act is against Hashem but not against mankind;
While to be pna 3pw 7wn, to testify falsely in a monetary
case is 7N, because it is

P onwh I

This act is both against Hashem and against mankind - the
party that suffers the monetary loss. Nevertheless, he
becomes M5 H109; apparently because »ax holds like 29
PR» that

MWoNS TOMA SRS TUMN

One who transgresses a lenient 772 is assumed to be
willing to transgress even a more stringent 77°2Y.

While x27 holds like "oy 29, because X137 says

DYIN> M1 SN

mv5 w3

He remains eligible to testify, because to eat 1>111s >p,
while to be pona Ipw 7Y is Won. Apparently, X327 holds
like or 27 that

WM TVMIPR PS> TwMmn

One who transgresses a lenient 172 is not assumed to be
willing to transgress a more stringent 77°2y.
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The Yemara now aifempty o say
the: Loy /)ﬂﬁ// 7% aa‘ua/[y/ w Pl /)/o/ﬁ//

NP

20/’ Q)

872

PDI NS O
m919 190 595 Sos

Testified for Mmon-mwo1 37

Disqualified for both
MDD 1T and M 1T

/6/9&/5) win/ 0>

MR 13 2N Oan

DI 1S s

Testified for dp-mamn 17
5o only for mamn 137
W2 for Mn-mMwoi T

win/ 1ty Vi3 /5/?&/:)

N2 holds likepr 12y
because N2 says

DWONd M) bon
TS YwH>

Eligible to testify,
because n»2)is>p

/f//zar
&0 holds Uikbe o ) that
2% TOMN
"N TIVN 1R

DafHachaim.org

N DI
2N Y
PRtaT)
m9nm 995

915
Testified for
5p-mamn T
Disqualified even in
0N - MYDI T

i/ 70> /6/9&/3)

MmN holds like PRp 123
becauseman says
DYVOND N2 DN
mMTYD DD
Disqualified
even though n»21is>p

because it is only
NMAIS VY 1N DPD 1Y

/f/z/mr
e holdy litbe N D) that
2P% TOMN
T™MNNY TOMN
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The Gemara explains that this is not necessarily so:

0P 1277 RIHR

wHo R V"D

»ar does not concur with *o1 *19, and according to "oy 19
all agree that

O M1 YR

m7b v

Because "oy '27 holds

N5 MR 5Pb Temn

The Machlokes X217 »ax is merely according to R *217:
7R holds

©Yon> MY SR

mTYs H100

Because like X1 °19, Abaye holds

N5 TOMIrR 5pb Tomn

While X237 holds

©YI? M1 5N

m7b v

Because there’s a difference

PO DI TY 723 ROR 0N 0" IORP KD IR TV

a5 Y onws YT

K127 holds that only an omn 7 for 1 becomes 9109
even for mws3 *»7, because his transgression was 0
since it was against both Hashem and mankind. There-
fore, we assume that he is willing to testify falsely even
regarding mwo1 rT.

25 Y7 PRI DHPYY YT RN DR

RO

PR1 27 does agree that an M523 57X does not become
mTY5 5109, because to eat 721 is >°p, since it is not against
mankind, while to testify falsely is 7mn since it is
s oPws M

It's against both Hashem and the losing party.

The Gemara concludes that

MIART PN RN

The final ruling is like »ax according to x» 17 and
oYY MY SR

mb oo

And although the Gemara previously brought proof to X217
from a Braisa, and also

OV 1M NN T

0P 7292 11957

In all Machlokes between 7R °27 and *ov *27, the final
ruling is like *or »27?

DafHachaim.org

oY
%QWKZ/W

thisy i not WJ?/ s0:

YD 27T RHN
17999 XY V7O
All agree that
DO M523 5oz

mTYS W>
Because by 1 holds

MHND TIDN 11N Spd TN

The Machlokes xai mx
is merely according to wxnan:
While N2> holds

DONb M) bz
MTYL Yw>o

MmN holds
DO M) oz
mTLS bipe

Because
like N1 123, Abaye holds

5pb TWMN
MHNS TIwN 1N

Because
there’s a difference

JND TV
DDN D) IDNP RO

123 NON
)ODT DOIT TV
nM25 v Db MT
NON ban
DOWD 1T
NN VI PN
N5

R 4
The Gemara concludes that

MIART NIMND RNOHYM

o7yo ﬂ/@ Lot
/)/?)// [aa

P

Altho
the Gemara previously
brought proof to xn from a Braisa?
and abso

?'OI' ) N2 'OI' 11NN N
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However, in this Machlokes the final ruling is like »ax
according to N 27 because

PR 270 RIN |5 ONOT

There is a mwn» ono that rules like R *27 that
failliaraRiiamEniyh

mwo1' 175 Mo

As the Mishnah in m3wn wR3 noomn states;

1007 17 1R

D73V M9 1272 1911 RIPA prwni

D72V DYIW Mo)

The Mishnah concludes

55on

5 TYWI TR PRY MY 5

75 PIWD PR AR

The general rule is that for all matters that a woman is
disqualified to testify, these 0509 are also disqualified to
testify.

Now, the Mishnah cannot be "o *171 because

15 W TR PRIWOI T

A woman is disqualified to testify for mwo3°r7, and 29
o1 holds

mann 71007

mwoIrTY W3

Someone who becomes %109 for testifying falsely in 37
mnnn is eligible to testify for mwoi ».

Therefore, we must say that the Mishnah is X 17 who
holds

M OrTIoNN

mwo3rTH Mo

Someone who becomes 9109 for testifying falsely in *»7
mnnn is disqualified to testify for mwoi r.

And therefore regarding

VI M523 SR W

We rule like »ar according to N1 29 that
mb oo

DR 5"p2 »aART PIND RAY

This is one of the six cases where we rule like »ar rather
than 21,
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A'NN 2D XN |'] onoT

> ) - 300
AL 179N
DY PIDIY N33 WO N3P pran
. BT3P Y ﬁmm
555 Mt
Mo W MENT PR M 5o
M9 P PN AN

The Mishnak

cannat be 1oy 19 because
nNWDI T2
Nd MWD NWRN PR
and 1072 1 holdy
DY 1T DN
MWD TH wd

NDMH 1T DN
mwo) 2T Hipo

And f/bé/‘%/‘& 74// ing
OYIDI NI Pk N
We rale like 74
accor/m;/ to 14N D) that

/97/ /aa

RNOY'M
MART NN
ap 9"y
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